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3+2x —y

(1) f(z,y) =e*sinby (a,bA0000) (2) (3) log(1 — x + 2y)

2| (oo oo 5284)0)
0000 f(z,y) O (0,0000000000000000000.
(D) flz,y) =2 +y>  (2) fla,y) =2° +y!
(3) flx,y) = 2% — 2zy* + o (4) f(x,y) = 22% + 2y + 2% + 22y + 32
(5) f

(z,y) = a* +y* — 22% + oy — 29

3| (00D 0D 52901)000004), (50 20 (4),(500000)
0000 f(r,y) D00 fu(zr,y) = fylz,y) =0000 (2,y) DODO0D0OODO.
000 f(z,y) 000DO0DO.

(1) flzy) =2 —ay+y* —x—4dy  (2) flz,y) =2" —22° +2° +¢°
3) flz,y) =zy(x+y—1) (4) flz,y) =22 +2¢° + 2° + 22y + o
(5) fx,y) = 2* +y* — 22% + 4oy — 2y°



